

# FACULTY POSITION ANNOUNCEMENT PART-TIME

(formerly AA-6)

Department: Communication Disorders & Sciences

Effective Date of Appointment: 2024-2025 Academic Year

#### **CSUN's Commitment to You:**

CSUN is committed to achieving excellence through teaching, scholarship, learning and inclusion. Our values include a respect for all people, building partnerships with the community and the encouragement of innovation, experimentation, and creativity. CSUN strives to cultivate a community in which a diverse population can learn and work in an atmosphere of civility and respect. CSUN is especially interested in candidates who make contributions to equity and inclusion in the pursuit of excellence for all members of the university community.

As a Hispanic-serving Institution (HSI), inclusiveness and diversity are integral to CSUN's commitment to excellence in teaching, research, and engagement. As of Fall 2022, CSUN enrolls ~38,000 students, where 57.3% are Latinx, 19.8% are White, 9.2% are Asian-American, 4.9% are Black/African American, 0.1% are Native American, and 0.2% are Native Hawaiian or Pacific Islander.

For more information about the University, visit our website at: http://www.csun.edu

#### **About the College:**

For information about the College, visit our website at: https://www.csun.edu/health-human-development

#### **About the Department:**

For information about the department, visit our website at: http://hhd.csun.edu/comdis/

#### **ANTICIPATED NEEDS:**

**Note:** All part-time faculty appointments are temporary and do not confer academic rank. Final determination of part-time teaching assignments is contingent upon student enrollment figures and funding. In addition to teaching, the position requires weekly office hours and participation in assessment of student learning. The successful candidate will be held to the standards and requirements of the college and department in which he/she/they is/are employed. Given CSUN's commitment to excellence in teaching, research, and engagement in a diverse environment, the successful candidate will help the Department achieve equitable academic outcomes for all students through teaching, student mentorship, and scholarship.

Communication Disorders and Sciences, has five (5) different Programs. Please select the Program and Courses you are interested in being considered for the 2024-2025 AY:

- Undergraduate Residential (Res On Campus) Program,
  - Early Intervention Clinical Practicum Residential (Res On Campus) Preceptor
  - Undergraduate Clinical Practicum Residential (Res On Campus) Preceptor
- Master's SLP Residential (Res On Campus) Program,
- Pre-CDS Distance Learning (DL Fully On Line) Program,
- Master's SLP Distance Learning (DL Fully On Line) Program.
- Au.D. Residential (Res On Campus) Program,
  - o Au.D. Residential (Res On Campus) Clinical Practicum Preceptor

# Residential Course Offerings Available

(Courses offered On-Campus)

### <u>Undergraduate Residential Program (Res-On Campus)</u>

### **Undergraduate Academic Courses:**

#### Required and Preferred Qualifications:

- Research Doctorate (Ph.D., Ed.D.), Clinical Doctorate (Au.D., CScD, SLPD), or Master's Degree in Communication Disorders.
- Must possess State License and ASHA certification in appropriate professional area.
- Academic and practical expertise in subject area is required.
- University teaching experience preferred.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and provide own appropriate computer hardware, ISP and submit grades through the university's SOLAR system. Faculty are expected to use Canvas for distribution of class hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on application form provided.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Base Salary Range Rank 2 (M.A., M.S. Degree): \$4530.00
Base Salary Range Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): \$5405.00

Salary for Rank 2 (M.A., M.S. Degree):

Compensation for Rank 2 is \$4530

- Base salary is \$4530.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$4530 Base Salary x 0.20 Timebase = \$906 per month.
- \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree):

Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

	(ADA) compliance.		
CD133	Survey in Communication Disorders	3.0 Units	Morning or Afternoon
CD361	Language, Development in Children	3.0 Units	Asynchronous On Line
CD405	Phonetics	3.0 Units	Late Afternoon or Evening
CD410	Hearing Science	3.0 Units	Late Afternoon or Evening
CD415	Speech and Language Development	3.0 Units	Late Afternoon or Evening
CD442	Speech Science	3.0 Units	Late Afternoon or Evening
CD445	Audiometry and Hearing Conservation	3.0 Units	Late Afternoon or Evening
CD446	Auditory Habilitation	3.0 Units	Late Afternoon or Evening
CD450	Fluency Disorders	3.0 Units	Late Afternoon or Evening
CD451	Phonologic and Articulatory Disorders	3.0 Units	Late Afternoon or Evening
CD462	Language Disorders I	3.0 Units	Asynchronous On Line
CD469A	Diagnostic Methods in Communication Disorders	3.0 Units	Late Afternoon or Evening
CD4690	Observation and Professional Writing in	3.0 Units	Morning or Afternoon
	Communication Disorders		
CD480	Early Speech Intervention	3.0 Units	Late Afternoon or Evening
CD485	Augmentative and Alternative Communication	3.0 Units	Late Afternoon or Evening

### Early Intervention Clinical Practicum Residential (Res - On Campus) - Preceptor:

### Required and Preferred Qualifications:

- Research Doctorate (Ph.D., Ed.D.) or Clinical Doctorate (CScD, SLPD) in Speech-Language Pathology or Master's Degree in Communication Disorders.
- Early Intervention is a (4) semester/session commitment; Fall Semester, Winter Session, Spring Semester, Summer Semester.
- An added \$1200 stipend is included Fall and Spring semesters additional responsibilities are assigned.
- Must possess State License and ASHA certification in appropriate professional area. Academic and practical expertise in subject area is required.
- University teaching experience preferred which includes experience in Supervision.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and
  provide own appropriate computer hardware, ISP and submit grades through the
  university's SOLAR system. Faculty are expected to use Canvas for distribution of class
  hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Base Salary Range Rank 2 (M.A., M.S. Degree): \$4530.00
Base Salary Range Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): \$5405.00

Salary for Rank 2 (M.A., M.S Degree):

Compensation for Rank 2 is \$4530

- Base salary is \$4530.
  - A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
  - \$4530 Base Salary x 0.20 Timebase = \$906 per month.
  - \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D, Ed.D., Au.D., CScD, SLPD Degree):

Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

EIP	CD 465,565,566,567 – Clinical Practice in Speech	3.0 Units	Morning or Afternoon
Clinic	Pathology I,II,III		

### <u>Undergraduate Clinical Practicum Residential (Res - On Campus) – Preceptor:</u>

- Research Doctorate (Ph.D., Ed.D.) or Clinical Doctorate (CScD, SLPD) in Speech-Language Pathology or Master's Degree in Communication Disorders.
- Must possess State License and ASHA certification in appropriate professional area.
   Academic and practical expertise in subject area is required.
- University teaching experience preferred which includes experience in Supervision.
- At least two years clinical experience is desired.

- Individuals are expected to conduct the course through internet Canvas website, and provide own appropriate computer hardware, ISP and submit grades through the university's SOLAR system. Faculty are expected to use Canvas for distribution of class hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Salary for Rank 2 (M.A., M.S. Degree): Compensation for Rank 2 is \$4530

- Base salary is \$4530.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$4530 Base Salary x 0.20 Timebase = \$906 per month.
- \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

*Note*: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

Undergrad SLP Clinic CD 465 (Combined with 565,566,567) – Clinical Practice in Speech Pathology I

3.0 Units

Early Morning, Late Afternoon or Evening

# Master's SLP Residential Program (Res-On Campus)

### **Graduate Academic Courses:**

- Research Doctorate (Ph.D., Ed.D.) in Speech-Language Pathology or Education (or comparable fields such as Audiology or Hearing Science). Clinical Doctorate (Au.D.,CScD, SLPD) or Master's Degree in Communication Disorders may be considered. Academic and practical expertise in subject area is required.
- Must possess State License and ASHA certification in appropriate professional area.
   State License and Certification must be valid during entire term of employment.
- University teaching experience preferred.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and
  provide own appropriate computer hardware, ISP and submit grades through the
  university's SOLAR system. Faculty are expected to use Canvas for distribution of class
  hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Salary for Rank 2 (M.A., M.S. Degree):

Compensation for Rank 2 is \$4530

- Base salary is \$4530.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$4530 Base Salary x 0.20 Timebase = \$906 per month.
- \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree):

Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA)

	compliance.		
CD500	Background Leveling in Communication Disorders and Sciences (Fall Only Course)	3.0 units	Asynchronous On Line
CD501	Interviewing and Counseling in Communication Disorders (Spring Only Course)	3.0 units	Early or Late Afternoon
CD502	Research in Communication Disorders (Fall Only Course)	3.0 units	Early or Late Afternoon
CD552	Language Disorders II	3.0 units	Asynchronous On Line
CD558	Neuroanatomy and Neurophysiology of Speech, Language & Hearing (Fall Only Course)	3.0 units	Late Afternoon or Evening
CD651	Advanced Study of Articulation and Phonological Disorders in Children	3.0 units	Late Morning or Afternoon
CD659	Neurogenic Disorders or Cognition and Language (Spring Only Course)	3.0 units	Early Morning
CD660	Structural and Neurogenic Speech Disorders (Spring Only Course)	3.0 units	Early Morning
CD661	Voice and Disorders of Voice	3.0 units	Afternoon or Later Afternoon
CD662	Seminar in Developmental Language Disorders	3.0 units	Asynchronous On Line
CD663	Adult and Pediatric Swallowing/Feeding Disorders (Spring Only Course)	3.0 units	Early Morning or Afternoon
CD668	Advanced Diagnostics in Speech Pathology	3.0 units	Morning or Early Afternoon
CD674	Pediatric Audiology	3.0 units	Late Afternoon or Evening
CD672A	Advanced Clinical Practice in Speech Pathology and Audiology I	6.0 units	Arrange
SLP Clinic	CD565, 566, 567 – Clinical Practice in Speech Pathology I, II, III	3.0 units	Early Morning, Late Afternoon or Evening

### Distance Learning Course Offerings Available

(Courses offered through Tseng College)

# **Pre-SLP Distance Learning Program (DL – Fully On Line)**

# Academic Courses DL – Fully On Line:

- Research Doctorate (Ph.D., Ed.D.), Clinical Doctorate (Au.D., CScD, SLPD), or Master's Degree in Communication Disorders.
- Must possess State License and ASHA certification in appropriate professional area. Academic and practical expertise in subject area is required.
- State license and Certification must be valid during entire term of employment.
- University teaching experience preferred.

- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and provide own appropriate computer hardware, ISP and submit grades through the university's SOLAR system. Faculty are expected to use Canvas for distribution of class hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Salary for Rank 2 (M.A., M.S. Degree): Compensation for Rank 2 is \$4530

- Base salary is \$4530.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$4530 Base Salary x 0.20 Timebase = \$906 per month.
- \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

CD405	Phonetics	3.0 Units	Fully Online Course
CD410	Hearing Science	3.0 Units	Fully Online Course
CD415	Language and Speech Development	3.0 Units	Fully Online Course
CD442	Speech Science	3.0 Units	Fully Online Course
CD445	Audiometry and Hearing Conservation	3.0 Units	Fully Online Course
CD446	Auditory Habilitation	3.0 Units	Fully Online Course
CD450	Fluency Disorders	3.0 Units	Fully Online Course
CD451	Phonology and Articulation Disorders	3.0 Units	Fully Online Course
CD462	Language Disorders I	3.0 Units	Fully Online Course
CD469A	Diagnostic Methods in Communication Disorders	3.0 Units	Fully Online Course

# Master's SLP Distance Learning (DL – Fully On Line) Program

# Academic and Clinic Courses Master's Program (DL Fully On Line) Program:

- Research Doctorate (Ph.D., Ed.D.), Clinical Doctorate (Au.D., CScD, SLPD), or Master's Degree in Communication Disorders. Academic and practical expertise in subject area is required.
- Must possess appropriate state license and ASHA certification in appropriate professional area
- State License and Certification must be valid during entire term of employment.
- University teaching experience preferred.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and
  provide own appropriate computer hardware, ISP and submit grades through the
  university's SOLAR system. Faculty are expected to use Canvas for distribution of class
  hand-outs.

- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

Salary for Rank 2 (M.A., M.S. Degree):

Compensation for Rank 2 is \$4530

- Base salary is \$4530.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$4530 Base Salary x 0.20 Timebase = \$906 per month.
- \$906 Monthly x 6 Monthly Checks = Semester Salary of \$5436.

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree):

Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

	compliance.		
CD4690	Observation and Professional Writing in Communication Disorders	3.0 Units	Fully On Line Course
CD485	Augmentative and Alternative Communication	3.0 Units	Fully On Line Course
CD500	Background Leveling in Communication Disorders and Sciences	3.0 Units	Fully On Line Course
CD501	Interviewing and Counseling in Communication Disorders	3.0 Units	Fully On Line Course
	**OUT OF FIELD DEGREES, SUCH AS PHYSICAL THERAPY, NURSING, OR MEDICAL DOCTOR MAY BE CONSIDERED FOR CD501, CD558, CD663		
CD502	Research in Communication Disorders	3.0 Units	Fully On Line Course
CD552	Language Disorders II	3.0 Units	Fully On Line Course
CD558	Neuroanatomy and Neurophysiology of Speech, Language and Hearing	3.0 Units	Fully On Line Course
	**Out of field degrees, such as Physical Therapy, Nursing, or Medical Doctor may be considered for CD501, CD558, CD663		
CD651	Advanced Study of Articulation and Phonological Disorders in Children	3.0 Units	Fully On Line Course
CD659	Neurogenic Disorders of Cognition and Language	3.0 Units	Fully On Line Course
CD660	Structural and Neurogenic Speech Disorders	3.0 Units	Fully On Line Course
CD661	Voice and Disorders of Voice	3.0 Units	Fully On Line Course
CD662	Seminar in Development Language Disorders	3.0 Units	Fully On Line Course
CD663	Adult and pediatric Swallowing /Feeding Disorders	3.0 Units	Fully On Line Course
	**Out of field degrees, such as Physical Therapy, Nursing, or Medical Doctor may be considered for CD501, CD558, CD663		
CD668	Advanced Diagnostics in Speech-Language Pathology	3.0 Units	Fully On Line Course
CD674	Pediatric Audiology	3.0 Units	Fully On Line Course
SLP Clinic	CD565, 566, 567 – Clinical Practice in Speech Pathology I, II, III	3.0 Units	Fully On Line Course

# Doctor of Audiology (Au.D.) Course Offerings Available

### **Doctor of Audiology (Au.D.) Program**

### Academic Courses for Audiology Program:

### Required and Preferred Qualifications:

- Ph.D. or Au.D. Degree in Audiological Sciences. Academic and practical expertise in subject area is required.
- Must possess State License; ASHA certification in appropriate professional area highly desirable.
- State License and Certification must be valid during entire term of employment.
- University teaching experience preferred.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and
  provide own appropriate computer hardware, ISP and submit grades through the
  university's SOLAR system. Faculty are expected to use Canvas for distribution of class
  hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- At least two years clinical experience is desired.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

#### Base Salary Range Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): \$5405.00

Salary for Rank 3 (Ph.D, Ed.D., Au.D., CScD, SLPD Degree): Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

# Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance.

CD708	Advanced Anatomy and Physiology of the Auditory System	3.0 units	Late Afternoon or Evening
CD717	Management of Speech and Language Disorders of	3.0 units	Late Afternoon or Evening
027	Audiologists		=a.to /tog
CD720	Psychoacoustics and Speech Perception	3.0 units	Late Afternoon or Evening
CD724	Advanced Audiometry Evaluation	3.0 units	Late Afternoon or Evening
CD730	Clinical Methods and Instrumentation	3.0 units	Late Afternoon or Evening
CD740	Rehabilitation Audiology	3.0 units	Late Afternoon or Evening
CD742A	Auditory Amplification I	3.0 units	Late Afternoon or Evening
CD742B	Auditory Amplification II	3.0 units	Late Afternoon or Evening
CD744	Interviewing and Counseling in Audiology	3.0 units	Late Afternoon or Evening
CD745	Pathologies of Auditory System	3.0 units	Late Afternoon or Evening
CD748	Educational Audiology	3.0 units	Late Afternoon or Evening
CD750	Assessment and Intervention of Vestibular System	3.0 units	Late Afternoon or Evening
CD752	Implantable Auditory Prostheses	3.0 units	Late Afternoon or Evening
CD753A	Electrophysiology of Auditory System I	3.0 units	Late Afternoon or Evening
CD753B	Electrophysiology of Auditory System II	3.0 units	Late Afternoon or Evening
CD755	Advanced Pediatric Audiology; Development,	3.0 units	Late Afternoon or Evening
	Assessment and Intervention		_
CD760	Research Methods in Audiology	3.0 units	Late Afternoon or Evening
CD762	Business Aspects in Audiology	3.0 units	Late Afternoon or Evening
CD764	Industrial, Occupational and Forensic Audiology	3.0 units	Late Afternoon or Evening
CD767	Interdisciplinary Aspects in Audiology: Contemporary	3.0 units	Late Afternoon or Evening
	Issues		
	**Out of field degrees, such as Physical Therapy,		
	NURSING, OR MEDICAL DOCTOR MAY BE CONSIDERED		

### Clinical Practicum for the Doctoral of Audiology Program – Preceptor:

### Required and Preferred Qualifications:

- Ph.D. or Au.D. Degree in Audiological Sciences. Master's and Audiological Sciences will be considered. Academic and practical expertise in subject area is required.
- Must possess state license; ASHA certification in appropriate professional area highly desirable.
- State license and Certification must be valid during entire term of employment.
- University teaching experience preferred.
- At least two years clinical experience is desired.
- Individuals are expected to conduct the course through internet Canvas website, and provide own appropriate computer hardware, ISP and submit grades through the university's SOLAR system. Faculty are expected to use Canvas for distribution of class hand-outs.
- Candidates must demonstrate an ability and commitment to teaching a diverse student population.
- Applicants must provide description of relevant clinical and teaching experience on the Department Part Time Faculty application.
- Applicants must provide evidence of recent Professional Development on application form (i.e., Names of Conferences attended, or Continuing Education Units).

#### Base Salary Range Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD): \$5405.00

Salary for Rank 3 (Ph.D., Ed.D., Au.D., CScD, SLPD Degree): Compensation for Rank 3 is \$5405.

- Base salary is \$5405.
- A 3.0 unit Teaching Assignment equates to a 0.20 Timebase (3/15).
- \$5405 Base Salary x 0.20 Timebase = \$1081 per month.
- \$1081 Monthly x 6 Monthly Checks = Semester Salary of \$6486.

Note: All face to face, online and/or hybrid courses must satisfy Americans with Disabilities (ADA) compliance

CD770	Clinical Practicum in Audiology I	3.0 units	Late Afternoon or Evening
CD771	Clinical Practicum in Audiology II	3.0 units	Late Afternoon or Evening
CD772	Clinical Practicum in Audiology III	3.0 units	Late Afternoon or Evening
CD773	Clinical Practicum in Audiology IV	3.0 units	Late Afternoon or Evening
CD774	Clinical Practicum in Audiology V	3.0 units	Late Afternoon or Evening
CD775A	Advanced Clinical Practice in Audiology I	6.0 units	Late Afternoon or Evening
CD775B	Advanced Clinical Practice in Audiology II	6.0 units	Late Afternoon or Evening
CD775C	Advanced Clinical Practice in Audiology III	6.0 units	Late Afternoon or Evening
CD776A	Required Professional Experience in Audiology I	6.0 units	Late Afternoon or Evening
CD776B	Required Professional Experience in Audiology II	6.0 units	Late Afternoon or Evening
CD776C	Required Professional Experience in Audiology II	6.0 units	Late Afternoon or Evening

#### **Application Process:**

Applicants must submit a completed Department Part Time Faculty Application for the 2024-2025 Academic Year, and a current resume to the address in the section below. [The resume should include educational background, prior teaching experience, evidence of scholarship, and/or related professional experience and information that reveals contribution to diversity.] In later phases of the search process, applicants may be requested to provide verification of terminal degrees, licenses and certificates.

#### **Application Deadline:**

Academic Year 2024 – 2025: April 5, 2024

Inquiries and applications should be addressed to:

Dr. Patricia Seymour, Department Chair
Department of Communication Disorders and Sciences
18111 Nordhoff Street
Northridge, CA 91330-8279

#### General Information:

In compliance with the Annual Security Report & Fire Safety Report of Campus Security Policy and Campus Crime Statistics Act, California State University, Northridge has made crime-reporting statistics available on-line <a href="here">here</a>. Print copies are available by request from the Department of Police Services, the Office for Faculty Affairs, and the Office of Equity and Diversity.

The person holding this position may be considered a 'mandated reporter' under the California Child Abuse and Neglect Reporting Act and is required to comply with the requirements set forth in <a href="#">CSU Executive Order 1083</a> as a condition of employment.

A background check (including a criminal records check) must be completed satisfactorily. Failure to satisfactorily complete the background check may affect the status of applicants. In accordance with the California State University (CSU) Out-of-State Employment Policy, the CSU is a state entity whose business operations reside within the State of California and prohibits hiring employees to perform CSU-related work outside of California.

CSUN is an Equal Opportunity Employer and prohibits discrimination on the basis of race, color, ethnicity, religion, national origin, age, gender, gender identity/expression, sexual orientation, genetic information, medical condition, marital status, veteran status, and disability. Our nondiscrimination policy is set forth in <a href="CSU Nondiscrimination Policy">CSU Nondiscrimination Policy</a>. Reasonable accommodations will be provided for applicants with disabilities who self-disclose by contacting Department of Communication Disorders and Sciences at 818-677- 2852.